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5. 585 9H 5,186 6,330 -1,144
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1. A3 ) 2} o) 26 26 0
‘ 371Et S5 822 816 6
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4. [T Z]EA o5 A2 3 S (D 1,140 0
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3.3 A7 77,790 77,790 0
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1. 0% FH| 2,553 2,553 0
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3. [=]EA=F (A=) D 27,147 27,147 0
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1. 059 u 337 540 -203 | 1Rmpd A 1 -203,00090%13]= -203,000
4.987 Wy 133,762 150,114, -16,352
1.3t &9 124,402 140,412 -16,010
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15X 71789 31,526 31,526 0
1. (2] 7,916 7,916 0
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2. Rk S0 4,000 4,000 0
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2. [=]9AAE 16,810 16,810 0
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4.49n) 3,100 3,100 0
5. 4R Fx0] 600 600 0
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3. [FIFAAED 4,790 4,990 -200
1717t a1 7 m) 0 200 -200| AATEFT 1 200,000 %13]= -200,000
2. Q=8| 450 450 0
3.991] 300 300 0
4. BB N 100 100 0
5. ARk 70 0] 100 100 0
6. 1] 741l 3,840 3,840 0
2.4 v fA 168,986 95,954| 73,032
1.8 A A A R] 8% 168,986 95,954 73,032
1. [2]FsoTF2AM = 28,244| 27,744 500
1.3718% 16,400 16,400 0
2. A8 ER 4,771 4,771 0
3NEgTFaT 7,073 6,573 500 A3 F : 500,000 %13]= 500,000
2. [%]148H] 1,200 1,200 0
1.8 1,200 1,200 0
3. [2INAEHEEY 10,680 10,680 0
1.9 Rk8-] 10,680 10,680 0
4. [Z]AE duree 21,344 22,005 -661
1. guk=4n) 21,144 21,805 -661| & @En] © -500,000913]= -500,000
FEFEM] 0 -561,0009013]= -561,000
A AR FEFIH] 0 1,000,000 %13]= 1,000,000
71 &2 H] 600,000 %13]= -600,000
2. 1]3F 79 200 200 0
5. (]384 we 20,151 20,901 -750
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2. 4k gH] 3,600 3,600 0
7. [Z=]APG ] 73,943 0 73,943
q = w o=} -

1.4 400] 73,043 0 73,943 éf‘;i%&i;iﬁﬁ?ﬂ]( ECR 8,200,000

égi?ﬁggi ]Ef?ﬁ](ﬂ]%%) : 65,743,000
3.8tue 3,020 3,320 -300
1.3t 91 3] -3 1,600 1,900 -300
SN ES R R R e R 1,600 1,900 -300

1.09n] 600 900 -300| 3] ] 74 oI H] 1 -300,000¢x13]= -300,000
2. 4Nl Fx0] 1,000 1,000 0
2.3ty 1,420 1,420 0
L[z]g5-Ras 1,420 1,420 0
1.9 Rk8-] 1,420 1,420 0
2. 9573 0 0 0
3. AW 520 0 0 0
7.3 A F2E 0 0 0
1.dum] 0 0 0
1.¢fn]u] 0 0 0
1. [Z]du]m) 0 0 0
1. u]H] 0 0 0
2. [ 1A efuyH] 0 0 0
1. o u]H] 0 0 0
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